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2 | REp, qlZNLT,

fa)=x22+px+q, glx)=2°"—3z

LB ZXABRA f(2) =00 220DM% a, BLT, ROMIZER L.

(1) 2xARBRAOME EEROBEZE ANT, Egla)g(B) = p, g = HWTEYE.
(2) gla) =0F/~ixgB)=0ThHdeE, H(p, q) OEEGZEEER _EIZFRE L.
3) gla) =03 g(B)=0856lF, ab BIREHTHDZ L2,

(1 BRARB B iR d) w+B=-P, af=§

Fa) 3(B) = (dP=3a)(4’-3p) @) (8 (2 v FarEL nTaT
= off (a*3)(B3) D=P 4420 K
= 9 [(ap)=3{carp)= 200} +9 ] Aip3ces fortxD,

1

o[ §-3{(-pr-23}+9]
9 -3p° +49°+ 9%

Q&) J)=0 griF J(f)=0 = GEOg(pr=0 IV
F(8+68 -3P'+9) = 0
Lg=o0 Fri gHeg-3p 9 =0
5. PR3P0 B (gr3) =3P 0
& (2+3HEP)(§13-13p)=0

PAEE). §=0 FRIG f=-f5p=3 FfE. §=q5p-3 f=fp g g=A3P-3
LBl T
(3 g@)=0zki F(B)=ont3 (24

270 #1iF §H6§-3P 9= 0

(V=00 k¥ fOU=X(X*P) = (d,f)=(0,-P), (-P,0)
g Ry . N

G) §3+4g-3P 900 T PO= yF T3
L fUzonHIQNRPIT. D=pyg = F(3-3'20 tREH B




